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Ify TR A = [1__; 1:}33’?:::\/——1%,
&t Frferfias § @ AT TH FE R 2

a) AFHEAR

®) A fmefiida g

© (A)T+Aeiidae

@ (A)T+A foemehida 2

[12_,/;]“' % forg s # x e @ e

X
O R ?

(a) 180
(b) 120
(e)- 90
d 72
afg

(1+2X—x2)6=ao+alx+a2x2+ ...-a-amxl2 2,
g'ao-al+a.2—a3+a4—...+alzﬁm%m
?

(a) 32
(b) 64
() - 2048
(d) 4096

wﬁazo,n+2)=cczo,n-2)%,zhn%a%‘»
TR R ?

(a) 18
(b) 25
() 10
d 12

8.

(2-A)

: 0 k 4
k¥ fpax wel & foo, =g |-k 0 -5
-k k -1
HHAUE B ?
(a) Had TH
® FEE A
(¢) had TR

(d) 4

FE (1101101 + 1011011), i e v &

forg e for@n 5 a1 8 ?
(@) (198);,
(b)  (199);,

(C) (200) 10

@ (201,

1"5 log; 1024 — logg 10 + % log, 3125 %1 A

R ?
(@ 0
b 1
) 2
d 3

afe x = log, (ab), ¥y = log, (be), z = log,, (ca) 2,

At Prefefga # & -1 W€ R 2
(a) =xyz=1
b) x+y+z=1

© Q+x)t+@0+ yl+Q+z =1

@ Q+x2+Q+ 2Z+Q+272=1




1. Ifmatﬁ A= [1_——;' ' liiJ wherei = /-1,
then which one of the following is correct ?
(a)  Ais hermitian
(b) A is skew-hermitian
(©  (A)T + A is hermitian
@  (&)T + A is skew-hermitian
2.  The term independent of x in the binomial
expansion of (;% - ‘/;]10 is equal to
(a) 180
(b) 120
(e 90
d 72
T | (1+2x-—x2)6=a0+alx+a2x2+...+a12x12,
then what is Q-ay +az—ag+a, —.. + a9
equal to ?
(a) 32
(b) 64
(e) 2048
(d) 4096
4. If C20,n + 2) = C(20, n . 2), then what is n
equal to ?
(a) 18
(b) 25
() 10
d 12
KJU-S-TMS
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For how many values of k, is the matrix
g k4

-k 0 -5| singular?

ST Sl
(a) Only one
(b)  Only two

() Only four
(d) Infinite

The number (1101101 + 1011011)2 can be

written in decimal systém as

(@) (198),,
b (199),,
©  (200),,

@ (201,

What is the value of

116 log; 1024 - log; 10 + é log;, 31257
(@ o

(b) 1

®): 2

d 3

If x= log (ab), y = loga (be), z = log, (ca), l
then which of the following is correct ?

(a) =xyz=1

(b) x+y+z=1

@ A+ M+ @+ te@azl=

@ A+ 2+Q+y)2+Q+272=1




9.

10.

11.

12.
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X+Yy

maﬁﬁm;;{ 2x xiy]’Bz[—zl] s
c=m% | af AB = C#, @ € AH
Trfire &1 WH 1R ?

(a)
(b)
(c)
(d)

= 30

-14

—24

-34

15 < x < 45 B, @ Fefafea & § FHA
T TE R ? :

(a)
(b)
(c)
(d)

(2x-3)(2x-9)>0

2x-3)(2x-9 <0

(2x-3)(2x-9)20

(2x-3)(2x-9)<0

T AT S=(1,223 181 SxSWTH
geY R, ﬂyﬁqﬁﬂfﬁﬂ%qﬁlogax>hgay
’&Iia=-;—3 | 99 I8 EeY B

T

Fad gafEd

. Fae HHER

(a)
(b)
(c)
(d)

(4-

13.

14.

15.

A)

s X
ﬂﬁ?ﬁﬁﬂ‘lA:{h b f}ﬁB:{y}%,?ﬁ
g f ¢ A
AB fores ST 2 ? ;
'—ax+hy+gﬂ
(a) y
L z i}
‘ax + hy + gz |
(b) hx + by + fz
i (R
[ax + hy + g2 |
(e) hx + by + fz
Lgx +fy+ez |
(d [ax+hy+gz hx+by+fz gx + fy + czl
w2 ‘ABLE' % gl #) smafe ¢ % W

it 6 g = 2, Re el s e
red & ?

(a) 2
b) 4
() 6
@ 8

gt (5) sk g % Shrese fagat #

Afrepan HE 1R ?
(a) 10
(b)) 15
() 20

d 25




9. Let A={2x x—yJ’ B=[_21J and 13.
c= BJ . If AB = C, then what is the value of
the determinant of the matrix A ?
(a -10
(b) -14
() -24
d -34
10. M .16.sx 548, ‘oo which oo’ of the
following is correct ?
(@ (2x-3)(2x-9)>0
() (2x-3)(2x-9)<0
© (@2x-3)(2x- 920
@ (2x-3)(2x-9)<0
1. TetB=1{1, 2.8 )14 relation Ron S x S is
defined by xRy if log, x > log, y when a = % 14,
Then the relation is
(a) reflexive only
(b)  symmetric only
(c)  transitive only
(d)  both symmetric and transitive
12. What is the value of the determinant
EEL '
it 8 i8 where i = J——I 2 15.
2 2 s
@ o
(b) -2
() 4
d -4
KJU-S-TMS (5-A)

X+y y

a
Let A= |h
g
AB equal to ?

X
and B = |y |, then what is
z

h g
bt
I
[ax + hy + gz]
(a) y

E it
[ax + hy + gz]
(b) |hx+by+fz

L z ]
[ax + hy + gz
© |hx+by+f

_gx+f§r+mj

(d [ax+hy+gz hx + by + fz gx + fy + cz]

What is the number of ways in which the
letters of the word ‘ABLE’ can be arranged so
that the vowels occupy even places ?

(a) 2
(b) 4
() 6
d 8

What is the maximum number of points of
intersection of 5 non-overlapping circles ?

(a) 10
(b) 15
() 20
@ 25




syt i (03) TV @ forg A3 : |
ﬁmﬁiﬁﬁéﬂmﬁ@ﬂﬁﬂﬂaﬁﬁq,aﬁxYaﬂtz
= agea € | ww Afo f6 7 ¥ wregal 6 §e &
n(Z)ﬁﬁEQ%mm%Gﬁ%%%w%l

16. 3Ry 3 z ¥ srawal h gEN 4:5% I |
A pWARFNR?

(a)
(b)

18
19
ey 21

d 23

17. n(X)+n(Y')+n(Z)—n(XnY)-—n(YﬂZ)—

n(XﬂZ)+n(Xr'\YﬂZ)
HAA TS ?

(a)
(b)
(c)
(d)
aﬁ@ma‘rqa’lxﬁi,q\{ﬁ%, AR a

azﬁﬁ,ﬁmpi,ﬁx%wﬁmﬁ
1 T TR ?

a+b+43
a+b+63
a+b+96

a+b+ 106

18.

(a)
(b)
(c)
(d)

p+b+60
p+b+40
p+a+60

p+a+40
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(6-

STt 2 (02) FVAT & forg 339 :
ﬁnﬁﬁiﬂaﬂwﬁ#vfé’qﬁm#yﬁ%m
e :

ar ohf R fansa

- K, 9i&f tan A = 0 3R
tan A

1
K=#=—-12l
3%

19. tanZ A fFas s 2 ?

K+3

(a) 3K —1

(b) 3K 1

© 3K-3

K+3

A

mA%mﬁﬁﬁﬁﬁ%m,Kﬁﬂﬁiﬁiﬁ
T A EsaT e ?

20.

A)




Directions for the following three (03) items : Directions for the following two (02) items :
Consider the following Venn diagram, where X, Y |Read the following information and answer the two
and Z are three sets. Let the number of elements in |items that follow :
Z be denoted by n(Z) which is equal to 90.
X “4 Let ens =K, where tan A # 0 and K = 1
ﬁ tan A : 3
% 19. Whatis tan? A equal to ?
7 K+3
(a) 3K 1
16. If the number of elements in Y and Z are in
the ratio 4 : 5, then what is the value of b ? ®) s
@ 18 e o
(b) 19
Le): 583 3K -3
(c) K3
¢d) .23
17. What is the value of K+8
n(X) + n(Y) +n(Z) - n(X N Y) — n(Y N Z) g
nXNZ)+nXNYNZ?
(a a+b+43
(b) a+b+63
¢© a+b+96 20. For real values of tan A, K cannot lie
between
(d a+b+106
(a) 2 and 3
18. If the number of elements belonging to neither 3
X, nor Y, nor Z is equal to p, then what is the
number of elements in the complement of X ? (b) 1 and 2
2
(a) p+b+60
(b) p+b+40 (c) %andS
(¢) p+a+60
1
(d p+a+40 (d) Fand'i
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st 3 (02) WA 3 forg G : _ 04, A 3 B v hm w ywR § 6
Wﬁm#ﬁqﬁm#m*m cos 2B = 3 sin? A 3 3 sin 24 =2sin 2B R |

e : :
s (A+2B)asrnﬂw%?
mcnww(m)mw%ﬁﬁm
i CD &Wiet § 3 BC I W €@ ® | AW g
e _ ADB = 6, 2 ABD = a, BC = p 3R 6
CD=qt | 2
s 2
91, fr=fufes w faem T :
: 15 AD sin 6 = AB sin o (e) %
. BDsinB:ABsin(9+a)
T i & P T R 2 - @ 3
(a) Had 1
» . 25. sin 3 3x + 4 sin® x — 3 si
d . SIn oX + COS X+ 481N X— sin X +
131
- S 2a3 3 cos x — 4 cos® x
@ FWLIE2 fopEs sUEL R ?
99. ABfFE® su= 2 ? (@ O
& (% +q2)sin 6 (b) 1
p cos ®+qsin 6 () 2sin2x
b) (pg — q2.') cos 0 ' (d) 4cosdx
pcos®+qsinf
(o® +qP)sind 26. y =2+ cos x % U % YWH (wife) &1 A
() : frg sqa A A R 2
qcos 0+ psinb ¥
0,1
(d) (p2 i qg) S (a) [ ]
qcos 6 +psinb () [0, 3]
cod 17 = simd'T . thi
23. Ife tan 0 = i 2, @ o WA
cos17° +s8inl7’ @ [1,3]
TR ?
@ 0° 97. 8cos 10°. cos 20°. cos 40° F WA TR ?
®) 28° (a) tan 10°
(b) cot 10°
(c)  38°
. (¢) cosec 10°
(d 52°

(d) sec10°

KJU-S-TMS (8-A)



Directions for the following two (02) items : 24. A and B are positive acute angles such that

Read the following information and answer the two cos 2B = 3 sin? A and 3 sin 2A = 2 sin 2B.
items that follow : What is the value of (A + 2B) ?
ABCD is a trapezium such that AB and CD are @ E
parallel and BC is perpendicular to them. Let o
4ADB=9,£ABD=a,BC=pandCD=q.
¥ R -
21. Consider the following : 4
1. ADsin6=ABsina , .
: . 3
2. BD sin 6 = AB sin (0 + )
Which of the above is/are correct ? (d) g
(a) 1only
25. What is
b
R sin 3x + cos 3x + 4 sin® x — 3 sin x +
(c) Both1and?2 3 cos x — 4 cos® x
(d) Neither 1 nor 2 equal to ?
22. What is AB equal to ? o
t) 1
(a) (p2 - qz) sin 6
p cos 0 +qsin () 2sin2x
(d) 4 cos4x

(b) (p? -q2) cos 0
pcosO+qsinf

26. The value of ordinate of the graph of

(pz " qz) oin. 6 Yy=2+cos x lies in the.interval

(c) :
qcossfpsmﬂ (@ [0,1]
@ (p2 = q2) cos 0 (b) [0, 3]
' o yme @ [1,83]
23. Iftan 0 = cos 17 —sin17 , then what is the
cos17° +s8in17°
il b o 27. What is the value of
; 8 cos 10°. cos 20°. cos 40° ?
(a): 0"
(a) tan 10°
(b) 28°
(b) cot 10°
® - 38°
(e) cosec 10°
(d) 52°

(d) sec10°
KJU-S-TMS (9-A)




98. cos 48° — cos 12° T A 1 & ? st @ (03) T & forg 13T :
R At TEER # ARE K e @ T F
4 I g :
(b) 1‘4‘(3 o o %
asin2x+bcoszx=c;bsin2y+am82y=d
© 5;1 3 ptanx=qtany ® |
d 1-5 31. tan?x FrGe aUL R ?
) ” c—b
(a)
9. Trefufas Heel w fem R iy

L aft ABC wH wwew Buw }, AW ®) a—c

cosecC=32 | R

2. ﬂﬁbcosB:ccosC%aﬂTﬂﬁﬁgﬂ
ABC wwer figs & §, @ ABC 3| (@) e—-b

& gufger Fye g =R | c-a
Wm‘aﬁﬂqm’ﬁwm? g9, 4-2 fpmd s R?
(a) Had 1 b-d
(b) Had 2 (@) sin’y
(¢ 13 2gH : - i
@ Far 1,782 2

(¢) tan®y
30. Er=fafiga s ® faem AT : | (@ cot’y
1. afe fpeht frust ABCH, A=2B3M b=c p3

ﬁ,ﬁﬂ'ﬁ@mﬁﬂﬁ“ﬂﬂﬁgﬁﬁml 33. & fepereh SO & 2
o am @ Byw ABC T ® e A = 407, 2 (b-c)(b-d)

B = 65° 3 % — sin 40° cosec 15° /' | (a-d@-c

: 3 (a—d)(c—a)
mmiiﬁam-mféaﬁr%/%? ® Hoo@-b
(a) Had 1 s (d —a)(c—a)
(b)  hadA 2 (b—c)(d—b)
© 13 23M @ ®-9G-d
@ dAMLAR2 (c—a)(a—d)

KJU-S-TMS (10-A)




28. What is the value of cos 48° — cos 12° 7 Directions for the following three (03) items :
{7 Read the following information and answer the
(a) : 4_ : three items that follow :
7 Let asin2x+bcoszx=c;bsin2y+aw32y=d
(b) 1_-45 and ptanx=qtany.
31. Whatis tan®x equal to ?
(© V5 +1
2 g
@ =2
1-5
(d) 5 :
(b) :' ;
29. Consider the following statements :
1. If ABC is a right-angled triangle, @ - S ‘:
. P
right-angled at A and if sin B = % then
cosec C = 3. @ =
c—-a
2, IfbcosB:ccosCandifthet:riangle
ABC is not right-angled, then ABC must &
be isosceles. 32. Whatis Ve equal to ?
Which of the above statements is/are correct ? =
(- Togly @ sin’y
(b) 2 only (b) cos?y
(¢) Both1and2 R
(d) Neither 1 nor 2
(d cot’y
30. Consider the following statements :
2
1. If in a triangle ABC, A = 2B and b = ¢, [33. What is P equalto?
then it must be an obtuse-angled triangle. q
2. There exists no triangle ABC with A = 40°, @ (b=ec)(b-d)
B = 65° and % = sin 40° cosec 15°. @-d@-c
{ J * ®) (a-d)(c—a)
Which of the above statements is/are correct ? m
(a) 1onl
. © (d-a)(c—a)
(b) 2only : (b-c)(d-b)
(e) Both 1 and 2 @ (b— e)(b-— d)
(d) Neither 1 nor 2 (c-a)@a-d)

KJU-S-TMS (11-A)



st i (03) TV @ forg AT : sy} # (03) VAT & forg AT :
ﬁnﬁﬁﬁmﬁﬁv@vaﬁrmﬁwﬂ%ﬁnﬁﬁﬁwﬁﬁmaﬁraﬁ#wﬁa&

I e : IR AT :
AT ARG 6 ¢ =sin® 0+ cos” O | A e fF a=p=15°% |
g4, f3%5 frhaTe 2 87. sin o+ cosp I AH & ?
ts — b7 4
(a —
2
o V2
tg i
b —=
tg 22
aij 4
5
& (c) —2%
(c) t—5
7
t w £
(d) t—l 2
7
38. sin 7o — cos 7P 1 WH F R ?
(a) h
85. t2—ty ThEH TR R ? 2
(a) cos20 b) i E
242
(b) sin 20
() 2cosb (e) E%
(d  2sin8
(d % |
36. tmaarmw%,aﬁe=45°%? 89. sin (o + 1°) +cos (B +1°) fopoh SUS R ?
e (a) J3 cos 1° + sin 1°
1
o S (b) J§co1°~—%sin1°
@ S .
16 (c) 7—2—(J§cosl°-—sin1°)
1
(d) 7y

@ % (J3 cos 1° + sin 1°)

KJU-S-TMS (12-A)



Directions for the following three (03) items : Directions for the following three (03) items -

Read the following information and answer the |Read the following information and answer the
three items that follow : three items that follow -

Let t_ =sin™ 0 + cos” 0. Let a =B = 15°,

37. What is the value of sin a + cos 57

34. What is 8-t equal to ?

W L
(a) t_l 1
bl g v
(b) :—3 5
3 WL
ts
() 5 ie
9 ) %
@ M |
b 88. What is the value of sin 7o — cos 78 ?
) |
(a) —
35. What is t12—- to equal to ? V2
1
(a) cos 20 (b) m
(b) sin 20
(e) —Ji
(¢) 2cosH 2J2
(d 2sin6 J3
@ =
J2
36. What is the value °fth where 6 = 45°? 39. Whatis sin (o + 1°) + cos (B + 1°)' equal to ?
(a 1 (@ V3 cos1° +sin 1°
® = ® V3cos1°— 1 gin1e
4 S 2 sin
1
it (© —J%(Jﬁoos 1° - sin 1°)
1
Wi @ % (V3 cos 1° + sin 1°)

KJU-S-TMS (13-A)




40, Af2 sinx+siny=cosy—cosX E‘T, i

41.

KJU-S-TMS

' o<y<x<gg,am[x-3’]ﬁmm

2
22

(a) O

® 7

(e) .2

@ 2

R A, 3 x 5 I (ATE) F1 Th AR ¥ AN
B, 5 x 3 HI FT TH AYE &, A AB 3 BA
#1 wifeat seuw: F B0 2

(a) 3x3 3 3x3

(b) 3x5 I 5x3

(¢ 3x3 I 5x5

@ 5x3 AN 3x5

a2 p2, o 3 12 (& p, q, r > 0 ¥) TR S
Gp) # £, @ fefafes § & A w7
2E? :

1. p,q3 o 3A GPYH E |

9. Inp,lnq3N In r@Hi I AP H T |
£ v e e F T HER IW A :
(a) Had 1

(b) HaA 2

(© 13 23Ht

@ T@LAR2

(14-A)

43. TR cot o 3 cot p THIH x2-3x+2=0%

e &, @ cot (o + B) ForEh UL @ ?
1

(a) E
1

® 3

) -2

@ 3

. o 3R Bﬁwﬁﬁammﬂw%wﬁahéﬁvﬁ

a+|3=u2+|323‘?(( aB:azﬁza'ﬁﬂgQﬂﬁél

@ feura Gt Y EE R 2
(@ O
b 2
) " -8
(d 4

. gfmm §en 1-if3 ot ;o1 8}, @

1+iV3
VTS T 8 ?
(a) 240°
(b) - 210°
(e) 120°
(d 60°




40. If sinx + siny = cos y — cos X, where
O<y<x< -E,thenwhatistan [3_;_3?) equal
to ?

@ o
1
b i3
(b) 2
el v q
d- -2

41. If A is a matrix of order 3 x 5 and B is a
matrix of order 5 x 3, then the order of AB and
BA will respectively be
(a) 3x3 and 3 x 3

- () 3x5 and 5x3
() 3x3 and 5x5
(d 5x3 and 3x5

42. If p? g2 and r? (where P, g, r > 0) are in GP,

then which of the following is/are correct ?
1. P, q and r are in GP. 45.
2. Inp,inqandinr arein AP.
Select the correct answer using the code given
below :
(a) 1only
(b) 2only
(¢) Bothland2
(d) Neither 1 nor 2
KJU-S-TMS
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43. If cot a and cot B are the roots of the equation

x2 ~ 3x + 2 = 0, then what is cot (¢ + B) equal
to?

1
(a) —2-

1
(b) 3
) =2
i =3

The roots o and B of a quadratic equation,
satisfy the relations o + B = o2 + p2 and
ap = a?p2. What is the number of such

quadratic equations ?

(@ o
b 2
© 3
@ 4

What is the argument of the complex number

l-iﬁ,whereiz J-1?
1+iV3

(@) 240°

® - 210°

(c) - 120°

(d 60°




46, oty g 80+isn0 i JC1 R, W

47.

KJU-S-TMS

cosO—isin®
7T TR 2

|
(a) E
b 1

3
(c) E

d 2

(1, 2, 3, 4) % 3faa Ivar=El ® fEm AT |
3 Sfrg Soegedl § @ Rt @=E ()
foreg=a 8 2

(@ 5
(b) 6
@ 7
@ 8

mm%p,qmrmm-m

(ﬁa)qamam%ﬁé@rﬁiiuﬁ.

p q r

Bii=-ila - p %, @ frafafea i3
r P q .

PG UH TE R ?

(a D<O

() D<O

¢ D>0

@' Dz

(16-A)

49, W& (1 + ©° F x B I (v §E) T *

yor fra W @ @ w@ e # sifew o=

TR I ATHA 1R ?
(a) 256

(b) 512

() 1024

(d) 2048

. Ff 3 IS TH o g F Eed #

freferfiga @ faem HifsT

1. AfadjA)=(adjA) A

2. |adjA|=|A|

S el A /A T AR 2
(a) Wad 1

(b) HaA 2

(© 13 23H

(@ J@1,AE2

. iﬁ(x—2a)(x—2b)+(y—2c)(y—2d)=0$T

Fg PAATR ?
(a) (2a,2¢) .

() -(2b, 2d)

() (a+ b; c+d)
(d (a-b,e—-d)

52. R (DR T FTH AR AR H

uw faol % i 3x + 2y = 5 8, @ G

 fereput = wefieTo T R 2

(a) 8x-2y=5
b) 2x-3y=1
(c) éx—3y=5
d 2x+3y=-1




What is the modulus of the complex number
—————me"'l,afn‘e,wherei: J=17
cos 0 —isin®
(a) 2
(b) 1
3
(c) E
@ 2
47. Consider the proper subsets of {1, 2, 3, 4). How
many of these proper subsets are superset of
the set {3} ?
(@ b
(b) 6
T
(d 8
48. Let p, q and r be three distinct positive real
P q r
numbers. If D = (q r P |, then which
I e g
one of the following is eorrect ?
(8) <D<0
(b) D<o
(¢) D>0
(d D=zo
KJU-S-TMS

49.

51.

(17=A)

What is the sum of the last five coefficients in
the expansion of (1 + x)° when it is expanded
in ascending powers of x ?

(a) 256
(b) 512
() 1024
(d) 2048

Consider the following in respect of a
non-singular matrix of order 3 :

1. A(adjA)=(adjA)A

2. |adjA| = |A|

Which of the above statements is/are correct ?
(a) '
(b)
(e)
(d)

1 only

2 only

Both 1 and 2
Neither 1 nor 2

The center of the circle :
(x—2a) (x-2b)+(y-2c)(y-2d) =0 is

(@ (2a,2)
(b) (2b, 2d)
() (a+b,c+d)
(d (a-b,c-d)

The point (1, —1) is one of the vertices of a
square. If 3x + 2y = 5 is the equation of one
diagonal of the square, then what is the

equation of the other diagonal ?
(a) 3x-2y=5

(b) 2x-3y=1

() 2x-3y=5

(d 2x+8y=-1



53. WA ofm 5 Pxy fRft degE|57.

25x2 + 16y2 = 400 W ¢ fig ® 1 AR QO, )
s RO, -3 2 Rig & @ PQ + PR) FFE
TR ?

(a) 12
(b) 10
(c) 8
d 6

54. 3R Y@l x+2=0 y+2=0 3
kx+y+2=oﬁaﬁﬁgamqﬁ%a(-1,—1)%,
A k1 HE TR ?

@ -1
b) -2
(. 1
d 2

55. maﬂf:xﬁ,ﬁﬁﬁégaﬁmeﬁaﬂt;-aa
£ i o F A g g S i TS TR 2

(a) sinO. sec? 0
(b) cosB. cosec? O
(c) cotB. sec? 0

(d) Z2tan9., cosec? 0

56, fea shEw % s, fg (o, b), @ & MW
(a—c,b—d) TEl & ?
(a) ab=cd
(b) ac=hd
(¢) ad=hc
(d) abe=d

KJU-S-TMS (18-A)

58.

59.

60.

7w wfe 75 ABC ©h B ® 1 3R D@, 5)
3 E(5, 9) RS g3l AB 3R ACH Teg-fag

%, A Yo BC % TS 1R ?
(a) 8

() 10

(c) 12

@ 14

3 fiig (0,10 ® YW1 8x — 4y - 5 = 0 FH M

<& 1 UTE (3, 1) R, 9 k1 AH 1R ?

(a)

(c)

3
(b) 4
5
d 6

<7 Yaei & 9 W st s w8, fEh
o 2 /3 32+ V3 B?

(a) 105°

(b) 120°

() 135°

@ 150°

af2 8x — 4y — 5 = 0 3R 3x — 4y + 15 = 0 et
ot § wag yeel % T W F wHE E
QY ot T Sk T8 ?

(a) 4o THR
(b) 9 TR
(e) 16 a1 TH1S
@ 257 T8




53. Let P(;{, y) be any point on the ellipse
25x + 16y2 = 400. If Q(0, 8) and R(0, - 3) are
two points, then what is (PQ + PR) equal to ?
(a): - 12
(b) 10
() 8
(d 6

54. If the circumcentre of the triangle formed by
thelinesx+2=0,y+2=0andkx+y+2=0
is (-1, 1), then what is the value of k ?

(Ao &3
(b -2
(e
d 2

55. In the parabola, y2 = x, what is the length of
the chord passing through the vertex and
inclined to the x-axis at an angle 0 ?

(a) sin0.sec2g

(b)  cos . cosec?
(e) cotO.sec?d

(d) 2tan 0. cosec?g

56. Under which condition, are the points (a, b),
(c,d) and (a — ¢, b — d) collinear ?

(a) ab=ed
(b) ac=hbd
(¢) ad=hbe
(d) abc=d

KJU-S-TMS

57. Let ABC be a triangle. If D(2, 5) and E(5, 9)

58.

(19-A)

are the mid-points of the sides AB and AC
respectively, then what is the length of the
side BC ?

(a) 8

(b) 10
© 12
@ 14

If the foot of the perpendicular drawn from the
point (0, k) to the line 3x — 4y-5=0is(3, 1),

then what is the value of k ?
(a) 3
(b) 4
€) . 5
d 6

What is the obtuse angle between the lines
whose slopes are 2 — /3 and 2 + V32

(a) 105°
(b) 120°
() 1356°
(d) 150°

If 3x -4y -5=0 and 3x -4y +15=0 are
the equations of a pair of opposite sides of a
square, then what is the area of the square ?

(a) 4 square units
(b) 9 square units
() 16 square units

(d) 25 square units




6l. 39 & ¥ =@ H wEE T 2 fo@|65. mmwmﬁww%@'bmmw
¥z 4, -2 3 W ¥ M S WS m:@vssqﬁz(sa:ré)m%aﬁtxy-aa%

6x-3y+2z—4=oaﬁmafm%? THI B ?
(a) 1597 (@ x;y=5
& 2% ® z=5
) 3‘5$r§ ¢ z=0
@ 47518

62. fig (2,3, 03 W x-0_y-0_z-0 5|66 AR A, xy-ae i T Ao () Wi R

: 1 0 0 T 31§ F WY 30° HI U] T &, A
@R ' A forgeh ST 2 ?
(a) 6FF% e
b) 5% @ B
(© 3T | A
By ®) J3i-j
@ 27 2
- 14433
63. afy frdh Yan ¥ fa-gT (© 3
<a+b,b+c,c+a>§,?ﬁ3‘ﬂiﬁﬁiﬁﬂﬁmaﬁ
¥ it o AT R 2 . @ $o4B §
2

(a) (a+b+ c)2

b 2(@+b+c) :
67. W ehfe & A e (emfy/eia) & o T

s 28 | figt fo | Oh | - 128, el O ¥ 1 R
@ 1 OA x.318 30N y-3181 3 WY HF: 45° 3TN 60°
=1 10 S 2, A OA Freh s R ?

M-W(m)ﬁﬁmmw @ 6 +6)t 2k

IyEe] # fawfa F@ & 2

(@) 2 | ‘ ® 65 +642) 6k
4

- ©. 8455 ve) Lok

(c) 8

@ 16 @ 3421 +37+6k

KJU-S-TMS (20-A)



61. What is the length of the diameter of the |65. What is the equation of the plane which cuts

sphere whose centre is at (1, - 2, 3) and which an intercept 5 units on the z-axis and is
touches the plane 6x — 8y + 2z — 4= 0 2 parallel to xy-plane ?
(a) 1 unit (@ x+y=5
(b) 2 units (b)) z=5
(¢) 3 units () z=0
(d) 4 units d x+y+z=5
62. What is the perpendicular distance 66. If a is a unit vector in the xy-plane making an
from the point (2, 3, 4) to the line angle 30° with the positive x-axis, then what
x-0=y—0=z-0,, isaequalto?
i 0 as - ‘
A A
(a) 6 units (a) _‘@21_*”_3
(b) 5 units
A A
V3i-j
(¢) 3 units (b) 2
(d) 2 units A
(c) ﬁ_@
2
63. If aline has direction ratios
<a+b,b+c,c+a>,thenwhatisthe_sumof ;‘ ﬁ’-‘
= J
the squares of its direction cosines ? (d) 2

2
(a) (a+b+c) 67. Let A be a point in space such that

b 2(a+b+c) ]0_1)&]=12,where0istheorigin.lf6:&is
(@) ;.8 : inclined at angles 45° and 60° with x-axis and
i 4 y-axis respectively, then what is (ﬁ equal
to ?
64. Into how many compartments do the A A A
6 6j 2
coordinate planes divide the space ? 5 a8 Sak
@ 2 ® 61 +6v2; + 6k
(b) 4
© 6v21i+6]+ 6k
fe)r =8
@ 16 @ 3v21+3] 16k

KJU-S-TMS (21-A)




68. @aﬂiﬂ%@jﬁaﬁaaﬁw(m)m'iz
2} 4} +5k 3 §-2] -8k #1 W
St @ Pefe s0 T afE s
(ﬁ@)mmqﬂ:ﬂmw%?

(a) 21
b 25
© 381
(d 36 73.

6. M |TxB P4 1T.¥|" = 14 iR
|2 =4 8@ | B | frmeh R ?
(a 3
(b) 4
(c) 6
d 8

70. 3f afew n
? =2'i\ —33 '+12, T)) ='i\ +2§ —31’; 3R
?=3 +pﬁ Eﬂﬁ?ﬂ'ﬂﬁ,?ﬁpﬂmwi?

(a). 1
(b) -1
.l
@ -5

71. x‘i_‘f)‘lx+‘2x’:’i‘3“3 e T & ? -
@) .1
b) 2
(¢ 3
@ 6

KJU-S-TMS (22-A)

qa;qazﬁﬁﬁroqcm/secaﬁatﬁﬁ@%t

ot aftf % G R AR ?

(a) 4-4 cm/sec

(b) 84 cm/sec

(¢) 88cm/sec

(d) 154 cm/sec

af lim x4—1= lim x° -k &t

x—>1 x-1 x>k g2 _k2’

k20%, @ KHIAA R ?

(a)
(b)

(e)

B> oo cols |

(d)

win

st woin kS - I [1+[2Z)2:\fdx ¥

dx
A 3R uE (i v feaft) w: R
(a) 131111"

(b) 233

© 234 -

@ 134

lim sinxlog(1—x) o ST R 2
x>0 x2 g

(a)
(b)

(e)

(d)



68. Two adJacent s:des of a parallelogram are
21—43 +5k and 1—2_] —3k What is the
magnitude of dot product of vectors which
represent its diagonals ?

(a) 21°
(b) 25
(e 31
(d 36

69. If |axb |2+|%.B |2=144 and
| =4 | =4, then what is | _b) | equal to ?
(a):. 38
(b) 4
() 6
d 8

70. Ifthevectors a =27 -3} + £,

?: Ii‘+2g—3lzand?= 3+p12are
coplanar, then what is the value of P?

(a) 1

(b) -1

€ 5

d -5

71. Whatis xﬁf‘l ’”xi"_“’l‘s > gl o2
(a) ¥l
(b) 2
fe) 8
d 6

KJU-S-TMS

72.

73.

74.

75.

(23-A)

The radius of a circle is increasing at the rate
of 0-7 cm/sec. What is the rate of increase of its
circumference ? -

(a) 44 em/sec
(b) 84 cm/sec
() 88 cm/sec
(d) 154 cm/sec
im x%-1 lim x3_k3

If x-1 x-1

k # 0, then what is the value of k?

————, where
x>k 42 27

2
(a) E
4
b =
(b) 3
8
(c) '3—
d 4
The order and degree of the diﬂ'erential

. dy _ dy)2 3
equation kdx_J.[l+(dx dx are

respectively

(@) 1land1
(b) 2and3
() 2and4
(d 1land4

. lim sinxlog(l-x) 9
Whatls x_)o‘_—x—z—— equalto d
(a) -1
(b) Zero
() -e
@) =2

e




76.

7.

78.

KJU-S-TMS

(b

qﬁﬂx)=3x2—5x+p3ﬂlﬂ0)3ﬂ1ﬁ1)ﬁ‘1ﬁﬂ
fug ¥ &, @ Prefrfian § @ FRw @@ R 2

(a) -2<p<0

M) -2<p<2

(¢) O<p<2

(d 38<p<b

?lﬁeew=c+49¢,3!ﬁc@ﬁﬁm%3ﬁ{
m,emﬁwé,ﬁwdam%aw%?

(a) 6de

-0do

(c) 46do

(d) -46de

IR px) = @e)* R, A jp{x)dx e ST
t &

p(x)

o om2

+C

(b) _._p(.L+c
21+2In2)

2p(x)

) 1+In4

+C

p(x)

d BN ol A
@) 1+In2

+C

80.

81.

(24-A)

nl4
J‘ (tan® x + tan x) dx HIHA TR ?

0

 §

(a) Z
1

b -
( )7 5
(e -1
a 2

ﬂT-‘-lFﬁﬁN% y=3x2+2 % | ﬂﬁx,mﬁ
gfafda & 10-1 B 9T B, @ y # Fo aiEd
TR ?

(a) 471

b 523

(¢) 603

(@ 801

ﬁﬁ fix) = Sinx, i xen,ﬂ% x = 0 9 Fad
21 2, @ x = 0 W B H AH

(a) OWHT%Q

(b 18 =R

(© 2 B =R

@ Taffa 7 e s asw@




| =

B | =

{e)="1
d)y "2
If €% =c + 469, where c¢ is an arbitrary 5
constant and ¢ is a function of 6, then what is
¢ d6 equal to ?

80. Lety = 3x2 + 2. If x changes from 10 to 10-1,

(@ 6de theﬁ what is the total change in y ?

(b) -6de
(a) 471
(¢) 46do
(b) 523
(d -46de

(c) 6-03

If p(x) = (4e)?*, then what is I p(x)dx equal @ 801

76. If fix) = 3x2 - 5x + p and f(0) and f(1) are e
opposite in sign, then which of the following is | 79. What is the value of J‘ (tan® x + tan x) dx ?
correct ? 0
(a)  -2<p<0
, (a) 1
(b) -2<p<2
() O0<p<2 (b)
d) 8<p<5b :
71.
78.
to?
_px sin x
(a) 1+2In2+c 81 S fxy=

, where xeR, istobe

continuous at x = 0, then the value of the

p(x)
by ————
2(1+2In2) functionatx =0

2p(x) (a) should be 0
1y e
KJU-

(b) should be 1
(d) p(x) (C) should be 2
1+In2

+C

(d) cannot be determined

S-TMS (25-A)




82, 7ashel GHIHW dy = (1 + y2) dx 1 B & 85. % y2 = 2x 3R W @1 y = x % di= TiEg &

(a) y=tanx+c o R
(b) y=tan(x+c) (a) %
tan‘l =
- ey ® 1
d tanl(y+c)=2x 9
: (c) =
3
@ 2

83. I(el°gx+sinx) cos x dx ﬁaﬁsw%?
86. AR fix) = 2x - x2 &, A fix + 2) + fix - 2) HI

: sin? x oM, 39 fSufa & 9@ x =0 &, ¥ AW ?
(a) sinX+XcCOSX+ 5 +c
(a) -8
. 2
(b) sinx—xcovsx+s'mzX +c R,
Sy (c) '8
(e) x&;inx\+cc>sx+5"'nx :
) 2
o0
(d) xsinx—xcosx+smzX +c
87. ﬂﬁxmy“=am+“@,?ﬁ%ﬁﬂﬁiw%?
84. e fx) = cos™! (x — 2) I S (wid) T8 ? (a) -Iz—z
@ [1,1]
(b) --'%
®) [1,3]
@ 10,5l X -
b ny
d [-2,1]
i,
mx

KJU-S-TMS (26-A)




82. The solution of the differential equation | 85.

dy = (1 +y?) dxis

(a) y=tanx+c
(b) y=tan(x+-c)
(© tanl(y+ec)=x

(d tanl(y+¢)=2x

83. Whatis J.(el"s"+sinx)cosxdx equal to ?

2

» sin“x
(a) sinx+xcosx+ +ec
. 2
& SIn" x
(b) sinx-xcosx+ +c
: sin? x
() xsinx+cosx+ +c
g sin?x
(d) xsinx-xcosx+ +c
of the

84. What is the domain
fix)=cos ! (x-2)?

(a) [_1’ 1]
B 13
(© [0,5]
@ [-2,1]
KJU-S-TMS

87.

function

(27-A)

What is the area of the region enclosed
between the curve ¥y?=2x and the straight

liney=x?
1
(a) -2-
® 1
2
(c) =
d. - 2

If fix) = 2x - x2, then what is the value of
f(k+2)+ﬁx—2)whenx=0?

(a) -8
(b) -4
) 8
d 4

If x™y"™ = a™*1 then what is gl equal to ?
X



.S R G— g 91. fix) = e ¥ F fqu, Praferfas st = few

88. o
xx" +1) ﬁﬁm\
o lln[ x" ]+c 1. x=0T HH §ad ¢ |
n x"+1
9 x=0W He FaHAAT B |
(b) ln[xn+1]+c 3q§i"m=iiﬁﬁﬁﬂ-mlﬁaﬂ%fé?
x" :
(a) HadA 1
(e) In x? +c (b) T 2
x" +1 .
() 13N 23l
a lm(x“uJH @ M L,AE2
n xn

89. |x- 1| <N A R, F& xe R ? 92. sin x. cos x 1 JATeehHad TH FT & ?

@ 0 @ 2
® 1 ® 1
© 2 (e %
@ -1 | @ 2v2

2
90. kw1 3 wH 1 & f forg X 8-k o
X . x -X
g3, lm 3 +3 -2 fgd a2

x%mﬁmm,wqﬁﬁamﬁm x—0 x

% gy (a O

{a). 0 b -1

b 1 PO

© 2 @ dm @ Afted TE ¥ (Fw frmm
T ?)

d) -2

KJU-S-TMS ' (28-A)




88. Whatis MG At equal to ?
x(x® +1)
ot e
(a) lln - +c
n (x"+1

89,

KJU-S-TMS

n
() Y [x +1J+c

n
© In|-=
[xn +1]+c

n
(d) 11::[‘ +1]+c

What is the minimum value of |x - 1|, where
xeR?

(a)"- -0

®d 1

(c) 2

d -1

What is the value of k such that integration of
3x? +8 -4k
X
rational function ?

with respect to x, may be a

(a) 0
) 1
)r- T2

@ -2

91.

(29-A)

Consider the statements for

fix) = e 1%l .

following

1 & ~ The function is continuous at x = 0

2.  The function is differentiable at x = 0.
Which of the above statements is/are correct ?
(a) 1only

(b)  2only

(¢)  Both 1and 2

(d) Neither 1 nor 2

What is the maximum value of sin X.cosx ?

(a).. 2
b 1

1
(e) E
@ 2v2

s X ~X

What is tho o )k equal to ?
(a) 0
(b) -1

) S |

(d) Limit does not exist



94. cot-lx % ey ¥ (¥ WNW) tanlx F
SRS TR ?

(a)

b 1

(c)

(d)

95. WO ulx,y)=c, S JFaehe FHIHT

x (dx — dy) + y (dy — dx) = 0 Y HYT F &,

FHATR ?

x2+y’=xy+c
x2+y2=2xy+cC
x2-y?=xy+c

x2-y?=2xy+c

(a)
(b)
(c)

(@)

22
(a)
(b)
i)~ 0

d 3

KJU-S-TMS

3 cos (A+§] %1 =FAqH UH R 8, FE Ae R

97.

98.

(30-A)

frffgg sl ® fmm AT

1 e fix) = In x AT (0, 0) H THAT B |

2. HEH f(x) = tan x A ['%%)ﬁ
Eorich

Iudw HeE § & HA-A/E AR 2

(a) Had 1

(b) Wad 2

© 13 2gHi

(@ Far1AE2

y= —Lo % % ¥ weu #, feffen J 9

T TR

(@) o (x e R|x # 1} ¥ ok wa (&)
Sredfas SEATEl S G ¢ |

b) S (xeR|x#1}?, WH [yeR|y#01 2
3 T y-318 W (0, - 1) W W FaT
71

(¢ oiA arafys Semel w1 THEd 8 3N
U T T (0) R |

@ O (x eR|x # 1) & 3 TWH y-38 W
fargadl 1 ag= 2 |

dy) _
aqaaﬂatﬁwzn[a;)_xmsaw%?

(a) y=e*+c
(b)
(c)

(d)

y=e*+c
y=Ilnx+c

y=2Inx+c




94. What is the derivative of tan~! x with respect
to cot™1x?

(a) -1
(=) R |

1

(c)
x2 +1

(d)

x2 +1

95. The function u(x, y) = ¢ which satisfies the | 98-

differential equation

x(dx-dy) +y(dy-dx) =0, is
(a) x2+y2=_xy+c
Eb) xzfy2=2xy+c
© x*-y’=xy+c

(d) x2—y2=2xy+c

96. What is the minimum value of 3 cos [A + g)

where Ae R?

(a) -3
o 2 o8
© 0
@ 3
KJU-S-TMS

97.

(31-A)

Consider the following statements :

: The function fix) = In x increasés in the
interval (0, ).

2. The function fix) = tan x increases in the

: A 1
interval (—E, —2- ).

Which of the above statements is/are correct ?
(a) 1only

(b) 2 only

(¢) Both1and?2

(d) Neither 1 nor 2

Which one of the following is correct in respect

of the graph of y = ?

x-1

(a) The domain is {xe R |x # 1} and the
range is the set of reals.

(b) The domain is {x € R|x # 1}, the range is
{y e R|y # 0} and the graph intersects
y-axis at (0, -1).

(¢) The domain is the set of reals and the
range is the singleton set {0}.

(d) The domain is {x e R|x # 1} and the
range is the set of points on the y-axis. -

What is the solution of the differential
equation In [%J =x7?

(a) y=e*+e¢
) y=ex+c
() y=inx+c

d y=2Inx+ec



100. w7 #ife R ok s # ward 1 3 e b|108. AR P(AUB):%, P(AnB):% 3R
i alie P(notA):%—@,?ﬁﬁﬂ%‘%ﬂﬁﬂﬂﬂ?—Wﬂﬁ

ST%e T8 ? i
(a) 2k2 A
(b) k2 (a) P@B)= -g
(0 '522- () P(AN B)=PAP®B)
5 "~ (© PAUB)>P@A)+P®B)
i (@ Plnot A 31 not B) = P(not A) P(not B)

101. SEst 4 s 9 H wHeTEd FEW: x o104 n FEON F 25§ WY M R F ATHA 50
(x— 1) & | 3 7T FAT= AT 6 8, W x B[ ® | YOl % I WgEE F 36 @ AN MY

TR TR ? gl 1 AT —508 | nHTAA FTE ?
(8): 2 (a) 50
(b) 3 (b) 60
i 2 © 80
@ 5
(d 100

| 102.aﬁ?ﬁ?vlﬁﬁw¥ﬁvwm’%ﬁs
I § 5l oft 2 urel W T Seres S TE :
i, @ @ AW B oww o § e oww|  2M R T 20 FaOT w5 (GW) st

105. n Y& F UH AlHS TR (V=) H AEA

ST T EEIT 6 U 2 =T H AET M ® | WY oAkl "UR
i 3 (=) o e R 2
¢ a M
5
1
€ 2 (c) %
(d) A 3 d) am

-
b
w

KJU-S-TMS (32-A)




100. Let  be the length and b be the breadth of a|q03.

rectangle such that /+b=k What is the
maximum area of the rectangle ?

(a) 2Kk2
(b) k2
k2
(C) ?
k 2
(d) N

101. The numbers 4 and 9 have frequencies x and
(x — 1) respectively. If their arithmetic mean is
6, then what is the value of x ?

(a) 2
() 3
© 4
@ 5

102. If three dice are rolled under the condition

that no two dice show the same face, then 105.

what is the probability that one of the faces is

having the number 6 ?-
(a) g

® 3

(c) %

@ =
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104.

If P(AUB):%, P(AnB)=% il

P(not A) = % , then which one of the following

is not correct ?
(a) PB)= g

(b) P(AN B)=PAPB)
(© PAUB)>PA)+P(B)

(d) P(not A and not B) = P(not A) P(not B)

The sum of deviations of n number of
observations measured from 25 is 50. The
sum of deviations of the same set of
observations measured from 3-5 is — 50. What
is the value of n ?

(a) 50

(b) 60

() 80
@ 100

A data set of n observations has mean 2M,
while another data set of 2n observations has
mean M. What is the mean of the combined
data sets ?

(a M

3M
o A

2M
(e) ?

4M
(d) =



Tt @7 (03) TFAT @ forg A :
Bofafaa TRt & ke sk e @i Je T &

3 e
e ferenféfani <t @@
wfifees fasm Tifore
10 - 20 8 10
20 - 30 11 21
30 - 40 30 38
40 - 50 26 15
50 - 60 15 10
60 - 70 10 6

106. ifie fgm 3t 1t & fenfiE i @@ F|110.

o &1 3o frm st § Afuwan 2 2

(a)
(b)
(e)
@

107, el weE e Hif
fifes fogm # o W sgEe "M,
| iaue 30 -40% @ B
Wiferes fagm o o=t & wifeden (dfsam),

1

2.

(a)

(b) .

(c)
(d)

20-30

- 30-40

40 - 50
50 — 60

fora 3 st St e A AR |
i e @ P wd 3

Fad 1
*Had 2

13k 231
Ad 1,82

lostﬁﬁlaaﬁanﬁaiaﬁwmﬁmm%?

(a)

(b)

(e)
(d)

384
394
409
41-6
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109.

111.

J=oit -6, -5, —V4, -1,1, J4, 5, J6
=1 A foraes F= g ?

(@ 2

(b) 2

o 232

d 4

aﬁﬁmﬁﬁfﬁaa{x%m

3 x; = 20, £x? = 200 3 n = 10 &, @ o=
TR T R ? '

(a) 80

(b) 100

(€ 150

@ 200

39 @ $ T Wiwar & 5 agesa 91 T
s JifEd (g ad) ¥ wEh § g9 deEn
B 2 :

(a)

o) =

(b)

3| =

(c)

~3| o

d 1




Directions for the following three (03) items :

Read the following information and answer the
three items that follow :
Marks Nul.nber of students :
Physics Mathematics
10 - 20 2 10
20 - 30 11 21
30 — 40 30 38
40 - 50 26 15
50 - 60 15 10
60 - 70 10 6
106. The difference between number of students

107.

under Physics and Mathematics is largest for
the interval

(a) 20-30
(b) 30-40
(c) 40-50
(d 50-60

Consider the following statements :

i 1 Modal value of the marks in Physics lies
in the interval 30 — 40.

2.  Median of the xﬁarks in Physics is less
than that of marks in Mathematics.

Which of the above statements is/are correct ?

(a) 1only
(b) 2only
(¢) Both1and2
(d) Neither 1 nor 2
108. What is the mean of marks in Physics ?
(a) 384
(b) 394
(e) 409
(d 416
KJU-S-TMS (35

109.

110.

111.

-A)

What is the standard deviation of the
observations

-6, -5, -Ja,-1,1, Vi, V5, J6 ?
(@ 2

(b) 2

© 242

d 4

If x =20, 2x7 = 200 and n = 10 for an
observed variable x, then what is the

coefficient of variation ?

(a) 80

(b) 100

(c) 150

(d 200

What is the probability that February of a
leap year selected at random, will have five
Sundays ?

1

(a) g
! 1

(b) 7

2

(c) 7
d) . 1



112. 100 JeUil 1 TEIGT FIEA 40 % | 4 #, T8 T 115, A (2) AEH IR A (2) AAHA F TH WHE A
e 6 Ja 5y W T § 83T R g 5oy o e wd T @ | W AW A

TR AT | EE HiEt HIET 9 R ? -
wiftrar & fr 5a afafa & 2 wrers i 1 wfernt

(@) 398 .
(b) 397 :

() 396 (a) -g—
@ 395 ;
g
113. ©F & 12 1 3 fiftwd % forg w ofe i oo o
Ay )
o TR ¥ fore 3ufE gu | ofd F 9 9 4
@ g 1 R F @ o A, 1
2

i 3 %1 AR 3 e @ § @
P # & fedhl s 2 22
(a) I ¥ Hu-B-H9 R w H T @
(b) I9H & haw TH B A A ACT
(¢) I ¥ fomelt 1 oft =& g Strem

(@ 39 Sl I AT S 116. 18 107 Seiifea 10 R 6w wich § @
us T 3 fewe P o # | i @

114, 7% fras & o 15 @l ggen (Rew) w1 o P me 3R et w s s € 2
e & fod @ 6 wreh (@R) ¥ | =
15 Taut gt ¥ | 4 AgeSd FAGT & | PR

et & 6 93 T e R e € 2 o

(a) ;11- - (b) %

) % ‘ © 12_5
6

g @ %

@ g
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112. The arithmetic mean of 100 observations is 40.
, it was found that an observation ‘53’
was wrongly read as ‘83’. What is the correct
arithmetic mean ?

Later

(a)
(b)
()
(d)

113.
two

probaBility of the husband’s selection is % and
that of the wife’s selection is -;- If the events
are independent, then the probability of which
one of the following is

(a)
(b)
(c)
(d)

114.

picks

probability that all the coins picked will be
counterfeits ?

(a)

(b)

(c)

(d)

KJU-S-TMS

A husband and wife appear in an intervew for

A dealer has a stock of 15 gold coins out of
which 6 are counterfeits. A person randomly

39-8
39-7
39-6
39-5

vacancies for the same post. The

11, ;

: 35

At least one of them will be selected
Only one of them will be selected
None of them will be selected

Both of them will be selected

4 of the 15 gold coins. What is the

i 3
91
K
91
9.
91

15
91

(37-A)

115.

116.

A committee of 3 is to be formed from a group
of 2 boys and 2 girls. What is the probability
that the committee consists of 2 boys and
1girl ?

(@) g
(b) %
(c) %
) %

In a lottery of 10 tickets numbered 1 to 10, two
tickets are drawn simultaneously. What is the
probability that both the tickets drawn have

prime numbers ?

(a)

(b)

(e)

(d)
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117. W et B X 3R Y suw: wremar 3 g8

§ freh og H Fwdl (T F) Wi R | T®
fea gon @ 5 X = 65, Y = 67, ox = 25,
oy = 35 M X, V) = 08} I XWY &
g (Farew) &1 aefie =1 @ 2

(a) Y=0175X-5

(b) Y=112X-58

(C) Y= 112X -5

d Y=017X+58

118. T agRes = X T R i St

n=1oaﬁip=%%mﬁqaaf'aaﬁaﬁam
F R | @9 Y = 10 - X W=ell n 3R p F
g e 1 IO F ¥ | T G A n I
p % W HEW: §

@) & %
® 5 -i-
© 10, -2-
@ 10, %

(38-A)

119. 7% A 3t B3 T 36 vHR € % PA) = 06,

P(B) = 0-5 3 P(A N B) = 04 &, At f=fefaa
HAt © faam Hif

1. P(AUB)=09.

2. P(B|A)=06.

I HUE @ BAAVE w6 R 2
(a) ad 1

(b) Wad 2

(© 13 23M

@ TAAML,TE2

.W@éqx,sraﬂrzqasﬁrﬁwmw%ﬁ

A £, el F6 F P TR A T T (IEHEA
@) # wiikekard s 0-02, 0:08 AT 005

5 | B Yot § 9w Q€ 98 F 50% S

X ST 8, 30% ¥ Y ST & 3 20% HH Z
ST | X % SO A AT SrEBEAHA! H

ST R ?

9
(a) 29

10
(b) 39

19
(e) ﬁ

28

) e

29




117. Let X and Y represent prices (in ) of a

commodity in Kolkata and Mumbaj
respectively. It is given that X = 65, Y= 67,
ox = 2'5, oy = 35 and r(X, Y) = 0-8. What is

the equation of regression of Y on X ?

(@) Y=0175X-5
b)) Y=112X-58
¢) Y=112X-5

d Y=017X+58

118. Consider a random variable X which follows
Binomial distribution with parameters n = 10
and p & % Then Y = 10 - X follows Binomial
distribution with parameters n and P
respectively given by

G
(a) 5, g
2
b 5, =
(b) 5
3
10, —
(e) 5
4
=
(d) 5
KJU-S-TMS

119. If A and B are two events such that P(A) = 0-6,

120.

(39-A)

P(B) = 0-5 and P(A N B) = 0-4, then consider

the following statements :
1. P(AUB)=049.

2. P(B|A)=06.
Which of the above statements is/are correct ?

(a) 1lonly

) 2only

() Both1and2

(d) Neither 1 nor 2

Three cooks X, Y and Z bake a special kind of
cake, and with respective probabilities 0-02,
0-03 and 0-05, it fails to rise. In the restaurant
where they work, X bakes 50%, Y bakes 30%
and Z bakes 20% of cakes. What is the

proportion of failures caused by X ?

9

(a) 29

10

(b) 29

19

(c) 29

28

- 29




wa HH & fore g
SPACE FOR ROUGH WORK
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w= wH & foro wrg
SPACE FOR ROUGH WORK




Fo) T & fore e
SPACE FOR ROUGH WORK
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w1 & foru smTg
SPACE FOR ROUGH WORK
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C.: KJU-S-TMS Test Booklet Series

TEST BOOKLET
MATHEMATICS

Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300

1.

6.
7.

10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and English.

Each item comprises four responses (answers). You will select the response which you want to mark

on the Answer Sheet. In case you feel that there is more than one correct response, mark the

response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions

in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,

you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your

Admission Certificate. ;

After you have completed filling in all your responses on the Answer Sheet and the examination has

concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to

take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

OBJECTIVE TYPE QUESTION PAPERS.

@) There are four alternatives for the answer to every question. For each question for which a wrong answer
hasatiet;n given by the candidate, one-third of the marks assigned to that question will be d ucted as
penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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